


7. Ao Bwith AB) > 0. then the value of P(A|B) is

BAP(B] PBNA
0 P(B) | b) Pl.ﬂ) ¢) | d) 0

-

8. The point on the curve = x, the tangent at which makes an angle of 48
with the x-axis is

2L
a) 1,:\ b) (-1, 0) ) (1,2) d) (1, J).
9 The differential equation whose solution is x* + y=Cis
#&} xdy+tyde=0 b)xf dy +ydy =0
¢) xdx—ydv=0 d) xdx tydy=0
10. Given the system of equations 2x + ¥ 3z = -10, 2yt z’ 2.2+ 6, the

values of x, y, £ are
a) 2, 4,0 L)2,7,6 )3 40 d)2,4,5
11. If one of two like parallel forces and their resultant are 12 N and 28 N
respectively, the other force 1s
a)l4 N b) 16 N ¢) I8N d)40 N
. OR
Giiven the national income model Y = B; E=CH 1, where C = 280 0.6Y,
[ = 80, the values of the intercept and slope of the expenditure gquation are

a) 360, 0.6 b) 280, 0.4 ¢) 280, 0.6 d) 360, 0.4

GROUP B [5 x 8 =40]
o Moivre's theorem. Use it to find cube roots of unity.

whose roots are four times the roots of
[1+2+2|

12 \n)/ State D
“ b)) Form a quadratic equation
— (1\3-13x+6=0.

lt\a)/‘} Use mat.hemuticnl 1

nduction to prove that for any positive integer n,

6" —11s multiple of 3. e
& —-"—"0,2-‘(" +4z=18'~ +z - Y
@ Solve the system ¥ =) y o

' Row—eq\nvalent matrnx method.

‘- T . 1 ;= prove that
14. a 1f sin”' x + S y+sin Z=TP

e +y\ﬁ‘13?1+z-\h—z1=1m







State the Haw
G’iVen the fo
l'nt'et the ﬁD

Kins - Simon conditions for the viability of the system.

lllowing inpul—output table, calculate the gross output 50 as to
al demand of 200 units of agriculture and 800 units of industry.

Consumer Sector

Prody
== cer Sector Industry Agriculture aalDenasd
: ETiculture 300 600 100
ey — 400 1200 400
[1+4]
GROUP C 8 x 3 =24]

How many numbers of 4 different digits can be formed from the digits
4,5, 6,7, 8. How many of these numbers are divisible by 5? How many
of these are not divisible by 5?

b Co, Ci, Cy, . . ., C, are binomial coefficients in the expansion of
(1+x)", prove that

Go—2Ci+3C— ...+ (=1)" (n+1) C. =O.

c) Defineagroup. Leta*b=3a+2bfora,beZ.Is* associative? Justify
your answer. [3+3+2]

21. 8) IfA, B, C are points (1, 0, 4), (0, -1, 5) and (2, —f‘i, 1) respectively.
. Find’ the foot the perpendicular drawn from 4 to the line BC.

ing vector method, prove that :
% sin (j + B) = sin A cos B + cos A sin B. (5+3)

}z/tftf(x)-‘-co

Verify the theorem for

s ~'x. Find i’ £ (x) from first principle. State Rolle's Theorem.
the function f (x) = x(x — 3)% on [0, 3]. [d+1+3)

THE END




